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1. OIUC HABYAJILHOI TUCIUTIITHA

MerTta

MeTta BUBYEHHS 1HO3EMHOi MOBH Yy HEMOBHOMY BY31 —
MiArOTYBAaTH CTYJIEHTA /10 YATAHHS aHTJIOMOBHOI JITepaTypH 3a
¢daxoM, CHITKyBaHHS aHTJIIMCHKOIO MOBOIO B PI3HHUX BHAAX
MOBHO{ JiSZTBHOCTI, MOXJIMBOCTI BUKOPHUCTaHHS aHTJINHCHKOT
MOBH Y MPAKTHYHHUX LISX.

KomrieTeHTHICTD

H3: K 03 3parHicTh CHIIKYBaTHCS 3 TPEJCTaBHUKAMH 1HIITHX
npodecifHUX TpPyNm PI3HOrO piBHA (3 €KCIepTaMH 3 1HIIUX
rajxy3ei 3HaHb/BUIIB €KOHOMIYHOT TiSIIbHOCTI).

H3: K 04 31aTHICTh OpalfoBaTH B MI>KHAPOTHOMY KOHTEKCTI.

Pesynbprar
HaBYAHHS

H3: P 03 Bwmitu cninikyBatucs 3 (axiBIsIMU Ta €KCIEpTaMu
pI3HOTO pIBHA IHIIMX Taily3edl 3HaHb, y TOMY 4YHCII B
MDKHApOJTHOMY KOHTEKCTi, B TJIOOATbHOMY iH(MOpMAIiHOMY
CepeIOBHIII.

ba3oBi 3HAHHSA

3HaTH.

1. I'pamatuyHi paBuiIa, rpaMaTHYHI KOHCTPYKIIT 1J1s
YCHOTO Ta MUChbMOBOTO MEPEKIIay aHTJIOMOBHHUX TEKCTIB
Ta BUKJay 1HGOpMAaIlii;

2. JlexcnuHWY MiIHIMYM OJWHMITH 3 TPOTPAMHHUX TEM KYPCY.

ba3oBi BMiHHA

Bwmitu:

1. MOSICHIOBATH IpaMaTU4HI MPaBUIIA;

2. BIII3HABATH, PO3PI3HATH Ta MEPEKIaJaTh PI3HOMAHITHI
rpaMaTH4HI KOHCTPYKIIIi;

3. PO3YyMITH MOHOJIOTIYHI TIOBIOMJIEHHS 3 3aCTOCYBaHHSIM
MEBHUX TPaMaTUYHUX KOHCTPYKIIIH;

4, 3aCTOCOBYBATH T'paMaTUYH1 IIpaBuiia Ta KOHCTPYKITI B

HepeKJIajl TEKCTIB, 1aJOriYHOMY MOBJICHHI Ta Ha MHUCHMI.

ba3oBi HaBUYKH

1. BukopucTtoByBaTM TIpamMaTH4HI MpaBuiia Mg MEpeKIaxy
TEKCTIB 3 aHIIIIChKOI MOBHU Y MPAKTHUYHUX IIISIX.

2. BxwuBatu rpaMaTUyHl KOHCTPYKLII B YCHOMY MOBJIEHHI Ta
nepeKasi TeKCTIB 3 MPOrPaMHUX TEM KYpCY.

[ToB’s13aH1
cuuadycu

«IHO3emMHa MOBa 3a Ipo(deciitHUM CIpsIMyBaHHSAM»
1 p.H. (1 cemecTp - 4 xpeauTn), 2 p.H. (3 cemecTp - 6 KpeAUTIB)

[Tonepenus
JTACLIMILTIHA

Hacrtynna
IUCLHUILIIHA

KinpkicTs roaun

JIEKITIi:

npakTuuHi 3aHgTTs: 75y |l cemectpi;
71a00paTOPHI 3aHATTS:

CEeMIHApChK1 3aHSTT:

camocTiitHa po6ota cryaentis: 105 y Il cemectpi;




Il cemecTp

2. MIPOI'PAMA HABYAJIbHOI JUCLUILJIIHU

2.2. Ilpaktuuni moxayii Il cemectpy

Kon HazBa moay:s Ta Tem RinbKicTs ropwy
aymutopsi | CPC
3M- 12,5| 14,17
15 | 1. a) The Ecosystem. Famine and Flood. 25 25
b) IMepexian Tekcry 3a haxom (8000 ap. 3HAKIB) 2,5 2,5
¢) Ilepexna cyCHiIbHO-TIOIITHYHOTO TEKCTY 2,5 2,17
(2500 np. 3HAKIB)
d) Grammar: The Infinitive 4 3
2. MoaynbHa KOHTpOJbHA poboTa Ne 5 1 4
3M- 12,5| 14,17
I16 | 1. a) Global Warming. Kyoto Revisited. 2,5 2,5
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
c) Ilepekian cycniabHO-TIOITUYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: The Gerund 4 3
2. MoaynsHa KOHTpOJbHA poboTa Ne 6 1 4
3M- 125| 14,15
I17 | 1. a) Natural Wonders of the World. 2,5 2,5
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
c) [lepekian cycniabHO-TIOITUYHOTO TEKCTY 2,5 2,15
(2500 mp. 3HAKIB)
d) Grammar: The Participle 4 3
2. MoaynbpHa KOHTpoJibHA podoTa No 7 1 4
3M- 12,5| 14,17
I18 | 1. a) Decision-making on the Solution of Ecological |2,5 2,5
Problems.
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
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¢) Ilepexnan cycnibHO-TTOITHYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: The Conditional Sentences 4 3
2. MonynpHa KOHTpoIbHA podoTa Ne 8 1 4
3M- 12,5| 14,17
I19 |1. a) Strategy of National Ecological Policy of 2,5 2,5
Ukraine Until 2020.
b) Ilepekian Tekcty 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
c) Ilepekian cycniibHO-TIOTITUYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HaKIB)
d) Grammar: Indirect speech 4 3
2. MonynpHa KOHTpoIbHA podoTa Ne 9 1 4
3M- 125 14,17
I110 | 1. a) State ecological monitoring. 2,5 2,5
b) IMepexian Tekcty 3a paxom (8000 ap. 3HakiB) | 2,5 2,5
c) Ilepekiiaz cycCribHO-TIOTITHYHOTO TEKCTY 2,5 2,17
(2500 nmp. 3HAKIB)
d) Grammar: Subjunctive mood. Revision, 4 3
2. MoaynpHa KoHTpoasHa podoTa Ne 10 1 4
Icriut 20
75 105
Pazom:
KoncynpTarii:
1. I’snoBa L.}O., 3aB. kad. iHO3eMHUX MOB, K. (D1JIOJ. HAYK, AOIIEHT, HOHEA1IOK

9.00 — 13.00, aymuropis 607.;

13.00, ayaurtopist 607.;

Kynenina O. 1O., cr. Bukin. cepeaa 9.00 — 13.00, ayauropist 607.

[IToroBa-Hikoneunko I'.B., qo1eHT, k. $hiy1oa. HAyK, AOLEHT, BIBTOPOK 9.00 —

2.3. CamocrTiiiHa poboTa cTyieHTa Ta KOHTpOJibHI 3axoau y |l cemecTpi

Kon ) Kinekicts Ctpok
3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX01H
MOYJIS TOAWH | IPOBEICHHS
3M-I15 14,17 1-3
THKIIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBAHHS, 5 1 TroxneHn
M1rOTOBKA rpaMaTUYHOI TEMU Ta MiATOTOBKA
JIOMAIIHBEOI0 YUTAHHSI
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o [linroToBKa 10 BUKOHAHHS MOJYJIHHOI 4 2 THKIIEHD
KOHTPOJIbHOI po60TH Ne 5 (060B’s13K0BE)
Konmponwvni 3axoou:
e YCHe OonuTyBaHHS 2,17 2 THKJIEHD
o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB 2 3 THXIEHb
HE3HAMOMHMX CJIIB Ta IX MEepeKIIa I yCHOTO
nepeKIIaaTy TEKCTIB
o [lepeBipka MMCHbMOBO BUKOHAHUX 1 3 THKJICHb
rpaMaTUYHUX BIIPaB
o MonynbHa KOHTpOJIbHA poboTa Ne 5 3 TUXKICHb
3M-I16 14,15 3-5
THXKJICHb
o [TigroTOBKA /10 YCHOTO OMUTYBAHHH, ) 3 THK/ICHD
MIArOTOBKA rPaMaTUYHOI TEMHU Ta M1ArOTOBKA
JIOMAIITHHOTO YUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOAYJIBHOI 4 4 THXIeHb
KOHTPOJIBHOT po60TH Ne 6 (060B’s13K0BE)
Konmponwvni 3axoou:
e YCHE ONIUTYBaHHA 2,15 4 THXIECHb
o [lepeBipka MMCbMOBO BUKOHAHUX CITHUCKIB 2 S TYKJICHD
HE3HAMOMHUX CJIIB Ta iX MepeKa Il yCHOTO
nepeKsIaay TeKCTIB
o [IepeBipka MMCHbMOBO BUKOHAHUX 1 S THXKIEHD
IrpaMaTHYHUX BIIPaB
« MoxynsHa KOHTposbHA poboTa Ne 6 S THXKIEHb
3M-I17 14,17 6-8
TYKJICHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 5 6 TIOKIEHD
MiJTOTOBKA IpaMaTHYHO1 TEMHU Ta IMArOTOBKA
JIOMAITHBOT'O YNTAHHS
* [TigroToBKa 10 BUKOHAHHS MOYJIBHOL 4 7 THOKIEHD
KOHTPOJIbHOT poO6oTH Ne 7 (060B’SI3K0BE)
Konmponwhi 3axoou:
e YCHE ONUTYBaHHS 2,17 7 THOKIEHD
e [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 2 8 T eHb
HE3HAHOMUX CIIIB Ta iX MepeKsIa AJisl YCHOTO
nepexsiaay TeKCTIB
o [lepeBipka MUCbMOBO BUKOHAHUX 1 8 THXKIEHb
IpaMaTHYHUX BIIPaB
e MojynbpHa KOHTpOJIbHA poboTa Ne 7 8 THXXJIeHb




3M-I18 14,17 8—-10
THXKJIEHD
o HiI[FOTOBKa A0 YCHOT'O OIIMTYBAHHA, 5 8 THXICHb
MiATOTOBKA TPaMaTUYHOI TEMH Ta TiATOTOBKA
JIOMaITHBOTO YHTAHHS
* [linroTOBKA JO BUKOHAHHS MOIYIHHOL 4 9 THXKIEHD
KOHTpPOJIbHOT poO6oTH Ne 8 (060B’SI3K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 2,17 9 THKICHB
e [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB 2 10 THKICHD
HE3HAHOMUX CIIIB Ta iX IepeKsIaj AJisl YCHOTO
nepeKIIaaTy TEKCTIB
o HepeBipKa IIMCBbMOBO BUKOHAHHX 1 10 TUKICHD
rpaMaTHYHUX BIIPaB
o MoaynpHa KOHTpOJIbHA poboTa Ne 8 10 TKIEHb
3M-I19 14,17 11-13
THXICHb
e [linroTOBKA 10 YCHOTO ONMUTYBAHHS, 5 11 THKICHB
MiATOTOBKA TpaMaTUYHOI TEMHU Ta IiArOTOBKA
JIOMAIIHBOTO YHUTAHHS
* [TigroToBKa 10 BUKOHAHHS MOYJIBHOL 4 12 THKICHB
KOHTPOJIbHOT po6oTu Ne 9 (060B’s13K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 2,17 12 THXKICHD
e [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB 2 13 THKICHD
HE3HAHOMUX CIIIB Ta iX IepeKIaj IIsl YCHOTO
nepeKIaay TEKCTIB
o [IepeBipka MMCHMOBO BUKOHAHUX 1 13 THKICHD
rpaMaTHYHUX BIIPaB
MonynbHa KOHTpOJIbHA poboTa Ne 9 13 THKICHB
3M- 14,17 13—-15
I110 TIKJICHD
e [linroTOBKA 10 YCHOTO ONMUTYBAHHS, 5 13 THKICHD
MiJITOTOBKA IpaMaTUYHO1 TEMHU Ta IMArOTOBKA
JIOMaITHHOTO YMTAHHS
* [TigroToBKa 0 BUKOHAHHS MOYJIBHOL 4 14 THXIeHb
KOHTpOJIbHOT po6oTu Ne 10 (000B’s13K0BE)
Koumponwoni 3axoou:
e YCHE ONUTYyBaHHS 2,17 14 TvKIEHb
e [lepeBipka NMMCHbMOBO BUKOHAHUX CITUCKIB 2 15 THKICHB
HE3HAHOMUX CIIIB Ta iX MepeKsIa AJisl YCHOTO
nepexsiaay TeKCTIB
e [lepeBipka MMCHbMOBO BUKOHAHUX 1 15 THKICHB

rpaMaTUYHUX BIIPaB




MonynbsHa KOHTpOJabHA poboTa Ne 10 15 TrxaeHb
[linroToBKa /10 1ICIIUTY 20 Cecia
Konmponwvni 3axoou:

e IcriuT
PazomMm: 105

1. MeTtoarKka MPOBEJICHHS Ta OHiHI-OBaHHSI KOHTPOJIBHOI'O 3aX04y JJIA 3M-II5.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBoeHHS 3M — I15:
— YHTaTH, NMEePEeKJIaJaTh Ta nepekasyBatu Tekctu “The Ecosystem”, “Famine

and Flood™:

— BHU3HAYUTHU XAPAKTCPHUCTUKHU BIKMBAHHA Ta IICPCKIIAAy I'PaAMaTUYHUX SIBHIL

3a Temoro «IHdinitus» (The Infinitive);

— HABYMTHCS YTBOPIOBATH Ta BXKUBATH Pi3HI TpaMaTtuyHi (opMH 1HQIHITHBA,
— YWTaTH, IEPEKIAIaTH Ta aHOTOBAHO MIEPEKA3yBaTH TEKCTH 3a (HaxOBOIO

TCMATHKOIO.

MakcumanbHa cyma 6aJjiiB 3a 000B’s13k0Bi 3ax0au koHTpoaw 3 3M-II5 — 16

oaJiB:

1 3aBnannasg — 14 Oamis:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHu#l nepekaa TEeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

c) 4(1+1+1+1)




1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOO

1 — circok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — nmuceMoOBe BUKOHAHE Summary

1 — ycue Summary

d 2(1+1)
1 — muCHLMOBHIT KOHCIIEKT ITpaBmiI 3a TeMoro The Infinitive
1 — muCcHrMOBO BUKOHAHHI I'paMaTHYHI BIIpaBu 3a TeMoro The Infinitive

1 3aBmanns (14 0aniB) He € 000B’I3KOBHM.

2 3aBaaHHs — 16 OaiiB:

Buxounaunug MKP Ne 5

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KokHe 3aBmaHHS
0,53 6aym. MoymbHa KOHTPOJIbHA poOOTa BBAKAETHCS 3apaXxOBaHO0, SKIIO HAJIAHO
MiHIMYM 18 npaBuIbHUX BIIOBIICH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHUKOHYIOTHCS CTYICHTOM
HICTsl CTPOKIB, BU3HAYEHHUX Y MIPOrpaMi HaBYAIBHOI IUCIUIUTIHHU, KIJTBKICTh OaliB,
[0 MOXK€ OTpUMATH CTYACHT, HE MOke mnepeBuiryBaTd 60% BiJl MaKCHUMAaJbHO
MO>KJIMBOI JUTSI 1i€1 JOPMHU KOHTPOJTIO.

Omuinka 3a okpemi (200 yci) MOAYJl 3HMXKYEThCA Y pa3l MPOMYCKIB 3aHITh
CTYJCHTOM. 3a KOXKHE MPONyIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanmu, aje MiHiMaibHa
OIliHKA MICJISl 3HXKEHHST HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYKJIUBOI.

MakcumanbHa cyma 000B’s13k0Bux 6aiiB 3 3M-I15 — 16 Gamis.

2 3aBnanHg (16 GaniB) € 000B’SI3KOBUM.

2. MeToarka poBEJIEHHS TA OIIHIOBAHHS KOHTPOJBLHOTO 3axoay it 3M-T16.

MiHimMagbHUH 00cAT 0a30BUX 3HAHb, 1110 HEOOX1AHMH 11 3acBoeHHsA 3M — I16:
— 4YHTaTH, Nepekiianatu Ta nepekaszyBaru tekctu “Global Warming”, “Kyoto
Revisited”;
— BH3HAYaTH XapaKTEPUCTUKH BKUBAHHS Ta IMEPEKIIaay TpaMaTHIHUX SBHIIL
3a Temoro «I['epynmiit» (The Gerund);
— HABYMTHCS YTBOPIOBATH Ta BXKMBATH PI3HI rpaMaTU4Hi (OpMHU TEPYHIIS;



— YWTaTH, IEPEKIAaTH Ta AaHOTOBAHO MIEPEKA3YBATH TEKCTH 3a (HaxOBOIO
TEMaTHUKOIO.

MakcumanbHa cyma 6aJjiB 3a 000B’3K0BI 3ax0au KOHTPoJ10 3 3M-II6 — 16
0aJiB:

1 3aBmaHHsa — 13 OaiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTTIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — ycHull nepekaa TEKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — nucpbMOBE BUKOHAHE SUMMary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — ynuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

d 1(0,5+0,5
0,5 — mruceMOBHIA KOHCIIEKT IIpaBmiI 3a Temoro The Gerund
0,5 — mMcpMOBO BUKOHAHHI TpaMaTH4HI BITpaBH 3a TeMoro The Gerund

1 3aBnanus (13 6aiiB) HEe € 000B’I3KOBUM.

2 3aBjaHHg — 16 GaiB:

Buxonanuga MKP Ne 6

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBIaHHS
0,53 6anu. MoaynbHa KOHTPOJIbHA pOOOTa BBAYKAETHCS 3apPaX0BaHOI0, SKIO HAJJaHO
MiHIMYM 18 npaBuiIbHUX BIMIOBIICH.
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Sxmo 3axoau 00OB’SI3KOBUX ()OPM KOHTPOJIIO BUKOHYIOTHCS CTYIEHTOM
HICJIsl CTPOKIB, BUBHAYEHUX Y MpOTrpami HaBYAIbHOI AUCUUIUIIHY, KIJTbKICTh OaiB,
0 MOXXE€ OTPUMATH CTYACHT, He MOxe mepeBuiryBatd 60% Bil MaKCHMAaJbHO
MO>KJIMBOI JUTSI €1 pOPMU KOHTPOJTIO.

Ominka 3a okpemi (a0o yci) MOyl 3HIXKYETHCS y pa3i MPOMYCKIB 3aHSThH
CTYJICHTOM. 3a KOXKHE MPOMYIIEHEe 3aHATTS 3HIWKYy€eThcs 0,5 O6anmu, ane MiHIManbHA
OIIiHKA MicIIsl 3HMKEHHS He MOXKe OyTr Hmk4da 60% BiJl MaKCHMaIbHO MOKITUBO.
MakcuMmainbHa cyma 000B’3K0BHUX 0ajiiB — 16 OaiB.

2 3apmanHs (16 GaniB) € 000B’SI3KOBUM.

3. Meroanka npoBEIEHHS Ta OIIHIOBAHHSI KOHTPOJBLHOTO 3axony st 3M-I17.

MiHiMaabHUM 00CAT 0a30BUX 3HAHB, IIT0 HEOOX1JHMH I 3acBoeHHS 3M — I17:

— 4YWTaTH, TepekiamaTh Ta nepekasyBatu Tekctu “Natural Wonders of the
World”;

— BH3HAYATH XapaKTEPUCTUKH BXKUBAHHS Ta TIEPEKIIaay TpaMaTUIHHUX SBUIII 32
temoro Participle | Ta Participle II;

— HABYMTHUCS YTBOPIOBATH Ta BXXHBATHU pi3HI (hopmu Participle I a II;

— YUTaTH, IEPEKIIaJaTH Ta aHOTOBAHO MePeKa3yBaTH TEKCTH 3a (PaxoBOIO
TEMATHKOIO.

MaxkcumanbHa cyma 0ajiiB 3a 000B’I3K0Bi 3ax0au KOHTpoJ0 3 3M-II7 — 17
OaJiB:

1 3aBmanHsa — 13 OaiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta iX Mepekian
1 — ycHull nepexaa TEeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

c) 4(1+1+1+1)
11



1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOO

1 — circok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — nmuceMoOBe BUKOHAHE Summary

1 — ycue Summary

d) 1(0,5+0,5)
0,5 — mrchbMOBHIA KOHCIICKT IIpaBHJI 3a TeMoro The Participle
0,5 — mrMchbMOBO BUKOHAHHI rpaMaTH4HI BIIpaBH 3a TeMoro The Participle

1 3aBnanHs (13 6aniB) He € 000B’I3KOBUM.

2 3aBmadHayg — 17 Gamis:

Buxonanug MKP Ne 7

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KokHe 3aBmaHHS
0,53 6aym. MoynbHa KOHTPOJIbHA poOOTa BBAKAETHCS 3apaXxOBaHO0, SKIIO HAJIAHO
MiHIMYM 18 npaBuIbHUX BIIOBIICH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHUKOHYIOTHCS CTYICHTOM
HICTsl CTPOKIB, BU3HAYEHHUX Y MIPOrpaMi HaBYAIBHOI IUCIUIUTIHHU, KIJTBKICTh OaliB,
[0 MOXK€ OTpUMATH CTYACHT, HE MOke mnepeBuiryBaTd 60% BiJl MaKCHUMAaJbHO
MO>KJIMBOI JUTSI 1i€1 JOPMHU KOHTPOJTIO.

Omuinka 3a okpemi (200 yci) MOAYJl 3HMXKYEThCA Y pa3l MPOMYCKIB 3aHITh
CTYJCHTOM. 3a KOXKHE MPONyIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanmu, aje MiHiMaibHa
OIliHKA MICJISl 3HXKEHHST HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYKJIUBOI.

MakcumanbHa cyma 000B’s13k0Bux 0aniB 3 3M-I17 — 17 Ganis.

2 3aBaaHHs (17 6amiB) € 000B’ I3KOBUM.

4. Metoauka nmpoBEJIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3ax0ay Uit 3M-T18.

MiHimMagbHUH 00csAT 0a30BUX 3HAHb, I1I0 HEOOX1AHMH 11 3acBoeHHs 3M — I18:
— 4YHTaTH, TepeKianaTh Ta nepekasdyBatu Tekctu “Decision-making on the
Solution of Ecological Problems”;
— BH3HAYATH XapaKTEPUCTHUKH BXKMBAHHS Ta MEPEKIIaAy TpaMaTHUYHUX SBUIIL

3a temoro Conditional Sentences (Type O, I, 11, 11);
— HaBuMTHCS yTBOpioBaTH Ta BxuBatu Conditional Sentences (Type O, I, II,
).
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— YHUTaTH, MEPeKJIaIaTh Ta aHOTOBAHO TIEPEKA3yBAaTH TEKCTH 3a (haxOBOIO
TEMaTHUKOIO.

MaxkcumanbHa cyma 0ajiiB 3a 000B’I3K0Bi 3ax0oau KoHTpo.io 3 3M-II8 — 17
OauiB:

1 3aBnaunsg — 13 Oamis:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHu#l nepexaa TEeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnircok He3HAHOMUX CIIiB Ta iX MepeKIIal
1 — nucpbMOBE BUKOHAHE SUMMmary
1 — ycue Summary

c) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — muceMoBHiT KOHCIIEKT mpaBui 3a Temoro Conditional Sentences (Type O, I, 11,

1)

0,5 — mMChbMOBO BMKOHAHHI rpaMaTu4Hi BipaBu 3a Temoro Conditional Sentences
(Type O, I, 11, 111)

1 3aBmanHs (13 0asiB) He € 000B’ I3KOBHM.

2 3aBnaHasg — 17 Ganis:

13



Buxonanug MKP Ne 8

MonynbsHa KOHTpOJIbHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,53 6aym. MoynbHa KOHTPOJIbHA POOOTa BBAXKAETHCS 3apaX0OBAHOI0, SKIIO HAJIAHO
MiHIMyM 18 npaBUIBHUX BIAIOBIACH.

Axmo 3axoaw 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYIACHTOM
MICJIA CTPOKIB, BU3HAUYCHHUX y MPOTpaMi HaBYAIbHOI JTUCIMIUTIHY, KIJIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYAEHT, HEe MoOke mnepeBuiryBaTd 60% BiJl MaKCHMAaJbHO
MOXJIMBOI1 JUIs 11i€1 HOPMU KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYJl 3HMXKYETHCA Y pa3i MPOMYCKIB 3aHITh
CTYJIEHTOM. 3a KOXKHE MPOMYIEHEe 3aHATTA 3HWKYy€eThes 0,5 6anu, ane MiHIManbHa
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 000B’sa3k0BuX 6ainiB 3 3M-118 — 17 Ganis.

2 3aBaaHH: (17 0amiB) € 000B’ I3KOBUM.

5. MeToauKa MPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y JJIA 3M-II9.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBoeHHS 3M — I19:

— 4YHTaTH, TMEpeKiIagaTh Ta ImepekadyBatu Tekctu “Strategy of national
ecological policy of Ukraine until 2020”;

— BH3HAYATH XapaKTEPUCTUKHM BXKUBAHHS Ta IMEPEKIaay TpaMaTHUHUX SBHIILL
3a Temoro Indirect Speech;

— HaABYMTHUCS yTBOpIoBaTH Ta BxuBatu Indirect Speech.

— YWTATH, IEPEKJIAJaTH Ta aHOTOBAHO MIEPEKAa3yBaTH TEKCTH 3a ()axOBOIO
TEMaTUKOIO.

MakcumajibHa cyma 6aJjiiB 3a 000B’s13k0Bi 3axoau koHTpoaw 3 3M-II9 — 17
oaJiB:

1 3aBnanns — 13 Oais:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTNIIHCHKOIO MOBOIO
1 — ciucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHu#t nepekiaaa TeKCTy
1 — nmepekas TekcTy
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b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI0 MOBOTO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — 9uTaHHA TEKCTY aHTIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMUX CIIiB Ta 1X MEPeKIIay
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

d) 1(0,5+0,5)
0,5 — nmruchMOBHIA KOHCIIEKT TIPaBHII 3a TeMoro Indirect Speech
0,5 — mucrMOBO BUKOHAHHI TpaMaTH4HI BIIpaBu 3a TeMoro Indirect Speech

1 3aBganus (13 OaiiB) He € 000B’I3KOBUM.

2 3aBnaHHsd — 17 Ganis:

Buxonanug MKP Ne 9

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHS
0,53 6aymi. MoynbHa KOHTPOJIbHA poOOTa BBAXKAETHCS 3apaXx0OBaHOK0, SKIIO HAJIAHO
MiHIMyM 18 mpaBUILHUX BIAMOBIICH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y MIPOrpaMi HaBYAIbHOI IUCLUUIUTIHHU, KIJTBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOke nepeBuuryBatd 60% BiJl MakKCHMAaJbHO
MO>KJIMBOI JUTsI 1i€1 POPMU KOHTPOJTIO.

Orminka 3a okpemi (200 yci) MOAYJl 3HMKYETHCA Y pa3i MPOMYCKIB 3aHITh
CTyJEHTOM. 3a KOJKHE MPOMYIICHE 3aHATTS 3HIKY€EThcs 0,5 Ganu, ajne MiHIMalIbHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyma 000B’s13k0Bux 0aniB 3 3M-I19 — 17 Ganis.

2 3apnanHs (17 6aniB) € 000B’ I3KOBUM.
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6. MeToanka IpoBEIEHHS TA OIIHIOBAHHS KOHTPOJLHOTO 3axoay it 3M-1110.

MiniMansHuM 00caT 0a30BHX 3HAHB, [0 HEOOX1qHUM 1j1g 3acBoenHs 3M — I110:
— YHUTaTH, IePEKJIaIaTh Ta epekazyBaTu Tekety “State ecological monitoring”;

— BH3HAYATH XaAPAKTCPUCTUKHN BXHBAHHA Ta IICPCKIIAAY I'PAMATHUYHUX SABUIL]
3a Temoro Subjunctive Mood. Revision;

— HaBYHUTHCS YTBOPIOBATH Ta BxkuBaTH Subjunctive Mood. Revision;

— YWTaTH, IEPEKIAIaTH Ta AaHOTOBAHO TIEPEKA3yBAaTH TEKCTH 3a (HaxOBOIO
TEMaTHUKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’A3K0Bi 3axoau kKoHTpoJw0 3 3M-I110 — 17
OaJiB:

1 3aBmanHsg — 13 Gais:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHu#l nepexaa TEeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta X MepeKiIan
1 — nmucpbMOBE BUKOHAHE SUMMary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — mucerMOBHIA KOHCIIEKT paBuII 3a Temoro Subjunctive Mood. Revision
0,5 — mUChbMOBO BHMKOHAHHI I'paMaTH4HI BIpaBH 3a Temoro Subjunctive Mood.
Revision

1 3apmanHs (13 0asiB) He € 000B’ I3KOBUM.
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2 3aBaaHHs — 17 OaiiB:

Buxonanug MKP Ne 10

MoaynbsHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,53 6anu. MoaynpHa KOHTPOJIbHA pOOOTa BBAYKAETHCS 3apaX0BAHOI0, SKIO HAJIaHO
MiHIMYM 18 npaBuIbHUX BIJIOBIICH.

Sxmo 3axoau 000B’SI3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCS CTYACHTOM TMICTS
CTPOKIB, BU3HAUYCHHUX Y IpOTpaMi HaBYAIbHOI JUCHHUIUIIHM, KIJIBKICTh OajiB, IIO0
MOJKE€ OTpHUMAaTH CTYJEHT, He Moke mnepeBuiryBatu 60% BiJ MaKCUMaIbHO
MOXJIUBOI1 JUIs 11i€1 (HOPMHU KOHTPOIIO.

Oninka 3a okpeMi (a00 yci) MOAYJl 3HUXKYETHCS y pa3l MPOIYCKIB 3aHATh
CTYJCHTOM. 3a KOKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJISl 3HIXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYJIUBOI.

MaxkcumanbpHa cyma 000B’s3koBux OaiiB 3 3M-1110 — 17 6anis.

2 3aBnanHs (17 6aniB) € 000B’I3KOBUM.

4. MeToIHKA NPOBEJEHHS Ta OLIHIOBAHHSI CEMeCTPOBOr0 KOHTPOJIbHOI'0
3aX0/1YV.

KoHTpob MOTOYHNX 3HAHb BUKOHYETHCSI Ha 0a31 HAKOMMIYBaJIbHOI CHCTEMU
opraHizailii HaB4aHHS.

dakTryHa cyMa 0aliB, IKy OTPUMYE CTYJEHT 3a IEBHUM 3MICTOBHUI MOYJIb,
Ma€ CKJIaJaTHCA 13 pe3yJbTaTiB BUKOHAHHS 3aX0JliB 3 KOHTPOJIIO, IO 3aIUIaHOBaH1
3a I[UM 3MICTOBHUM MOJIyJIEM, Ta YPAXOBYBaTHU CBOEYACHICTh (HampuKIaz:
CTYJICHT, IKU/ TPOIYCTUB KOHTPOJIbHUH 3aXi/ 0€3 MOBaXHUX MPUIHH 200 OTpUMaB
HE3aJI0BUIBbHY OIIIHKY, MA€ MPaBO y THKHEBUI TEPMiH BUKOHATH 3aBJAaHHS IOTO
3aX0Jly 3 MaKCHMaJIbHOK CYMOIO OalliB, €KBIBAJICHTHOIO OIlIHIII HE OLIBIIINA HIX
"3a10BUIbHO") BUKOHAHHS CTYJIEHTOM rpadiKy HaBYAJILHOTO MPOILIECY.

Cymu OaniB, sIKi OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMH MOIYJISIMU HaB-
YabHOI JTUCHUILIIHU, (GOPMYIOTh KIUIBKICHY OIHKY (0anm ycmimHOCTi) 3a
MIJCYMKaMHU TIOTOYHMX KOHTPOJIOIOUMX 3aXOAIB CTyACHTa 3 HaBYAIBHOI
TUCHHIUTIHK. Pe3ynabTaT TOTOYHOTO KOHTPOJIIO 3aHOCATHCSA [0 IHTErpaibHOI
BiZloMOCTi. PimieHHs mpo JOMyCK CTyJIEHTa 10 MiACYMKOBOIO CEMECTPOBOTO
KOHTPOJII0 3 KOHKPETHOI HaBYaJIbHOI JUCIUIUIIH periiaMeHTyeThest [lookeHHs M
PO TIPOBECHHSI MiICYMKOBOTO KOHTPOJIIO 3HAHB CTYCHTIB.
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CTyIeHT BBOKAETHCS JOMYIIICHUM JI0 TT1JICYMKOBOT'O CEMECTPOBOTO KOHTPOJIIO
(icuty), SKIIO BIH BUKOHAB BCl BUAU POOIT, mependadyeHi poOouor0 HaBYAIHHOIO
MIPOTPaMOI0 TUCIHIUIIHA 1 HaOpaB 32 MOAYILHOIO CHCTEMOIO CyMy OajliB HE MEHIIIS
50 (50%) Bim MakcuMaabHO MOXUIMBOI (000B’s3koBa vactuHa 100 OamiB) 3a
IPAKTUYHY YaCTHHY.

[1inCyMKOBHM KOHTPOJIEM 3HAHb CTY/CHTIB € iCIMT.

Ex3amenariiina po6oTa ckiamaeTbest 3 4 3aBmaaHb. | 3aBmaHHS OLIHIOETHCA B 50
OamiB, 2 3aBgaHHg B 20 OaniB, 3 3aBmanHsa B 10 GamiB 1 4 3aBmannsa B 20 Oadis.
Ex3amenarriiina po6oTa BBaKAa€ThCS 3apax0BaHOI0, SKIIO CTYJEHT HaOpaB MIHIMYM
50 GamiB.

5 5 5 ®opma Ne H-5.05
OAECBHKUU NJEP)KABHUN EKOJIOI'MYHUN YHIBEPCUTET

(moBHe HaliMeHyBaHHs BUILOTO HABYAJILHOIO 3aK/IaTy)

PiBens BuIIOi ocBiTH: Marictp
CrnemianpHicTh:_103 «Hayku npo 3emio», 101 «Ekomorisiy  Cemectp 11
HasyanpHa gucrmiuriga: [Ho3eMHa MOBa 332 npodeciiiHUM CIIpSIMYBAaHHIM

EK3AMEHALIMHUMA BJIET Ne 1

1. Grammar Test 50 6.

2. Translate the text and put 5 questiontoit. ... 20 6.

3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)

4. Write about “My scientific interests” ... 20 ©.

3aTBepKEHO Ha 3aci/laHH1 KadeIpu 1HO3eMHUX MOB

[Tpotokon Ne  Big*“__” 201 poky
3aBinyBau kadeapu, rojioBa HMKJI0BOI KoMicii II’sanoBa L.1.
(migmuc) (npi3BHLIE Ta iHII[iaIN)
Ex3amenarop
(i amuc) (npi3BHILIE Ta iHILIaTH)

Jlo icnuTy MOMYyCKAaroThCS CTYACHTH, Yy SKUX (DaKTMYHA CyMa HaKOMWYCHHX 3a
cemecTp OaliB 3a NMpakTUYHY 4YacTUHY ckiagae He meHume 50% (50 6auis). B
1HIIIOMY BHIAJIKy CTYJEHT BBAXKAETHCA TAKUM, [0 HE BUKOHAB HABYAJIBHOTO TUIAHY
JTUCITUTUTIHY, 1 HE IONYCKAEThCS 70 ICTIUTY.

OuiHKa 3a AUCIUILIIHY PO3PaX0OBYETHCS 3a (HOPMYIIOLO:

IO = 0,5 (OM + OIIK)
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ne OM — kinpkicHa oIfiHKa (y BIJCOTKaxX BiJ MaKCHMMajdbHO MOXJIHMBOI) 3aXOiB
koHTpomo CPC y mixkceciiHUN nIepiof;
OIIK — ominKa MmiICYMKOBOTO KOHTPOJItO (1CITUT).

[To muctuILIiHI, SIKa 3aBEPIIYETHCS ICIIMTOM, CTYJICHT CKJIaJa€ MUChbMOBHUH
ICIINT, SKUHA OIIHIOETHCS 3rigHoO ,,Tabmuiy I BHU3HAYEHHSA KUIBKICHHX
MOKA3HUKIB YCIIIIHOCTI 3a MIJACYyMKaMHu 1CIIUTY:

KuiskicTe 3a CUCTEMOIO Bu3nauenus .
; } 3a HaIlOHAJIBHOIO
OaiiB YHIBEPCUTETY
) : CHCTEMOIO
3a 1CIIAT (y BiIcOTKaX)
1 2 3 4
BIIMIHHE BUKOHAHHS JIMIIE 3
90 - 100 90 - 100 HE3HAYHOIO KUTBKICTIO 5 (BiAMiHHO)
IIOMUJIOK
BHILIE CEPEIHLOTO pIBHI 3
82 - 89 82 - 89 He - ceped p 4 (106pe)

KIJIBKOMA TTOMUJIKAMU

B 3arajpHOMY  IpaBUIIbHA
74 - 81 74 - 81 poboTa 3 TIEBHOI KUIBKICTIO 4 (mobpe)
rpyOuX MOMHJIOK

HCIIOraHoO, aJi€ 31 3HAYHOIO

64 -73 64 -73 o 3 (3a/10B1JIBHO)
KUTBKICTIO TTIOMHJIOK
i i BUKOHAHHS 3aJ0BOJILHSE 3 (3a10BUJIbHO)
60 - 63 60 - 63 MiHIMaJIbH1 KpUTEpii
35-59 35-59 3 MOYKJIUBICTIO TIEPEKJIACTH 2 (He3aJ0B1IHHO)
1-34 1-34 3 O00OB’A3KOBUM IOBTOPHUM | 2 (HE3aJ0OBUIBHO)

KYpPCOM HAaBYaHHsI

3aranpHa KUIbKICHA OIIIHKA € YCEePEeIHEHO MK KUIbKICHOIO OIlIHKOIO
MOTOYHUX KOHTPOJIOOUKX 3ax0AiB (rpada 3 BiAOMOCTI) Ta KUIbKICHOIO OIIIHKOIO
CEMECTPOBOI0 KOHTPOJIOIUYOro 3axony (rpada 4 BiIOMOCTI) 1 BUCTaBISETHCS Y
rpadi 5 3a11KOBO-€K3aMeHallliH1 BIAOMOCTI (3arajbHHil 0an yCHilHOCTI).

SIKIo CTyAEHT 3a MiICyMKaMH ICIIUTY OTPUMAB 3arajibHy KiJIbKICHY OLIIHKY
meHme 50% (Big MakCUMaJbHO MOXJIMBOI Ha €K3aMEHi), TO BHKJIagayeM
BUCTABIIAE€TbCS Yy rpadl S 3aranbHUl Oan yCHIMIHOCTI, KM JOPIBHIOE Oaury
ycnimHocTi Ha icnuTi (rpada 4).
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IIkana ouinroBanud 3a cucremMorw EKTAC Ta cucremMor0 yHiBepcUTETY

3a HaIliOHAJFHOIO CHCTEMOIO 3a cuctemoro
3a mkanoro .
ECTS . ' YHIBEPCHUTETY
IS iCTIUTy IS 3aJTiKY (B IpoLIEHTAX)
A 5 (BiAMIHHO) 3apaxoBaHO 90 - 100
B 4 (mobpe) 3apaxoBaHO 82 - 89
C 4 (mobpe) 3apax0oBaHO 74 -81
D 3 (3310BiJIBHO) 3apaxoBaHO 64 -73
E 3 (3a10B1JILHO) 3apaxoBaHO 60 - 63
FX 2 (HE3aJ0BUIBLHO) HE 3apax0BaHO 35-59
F 2 (He3a0BIJIBHO) HE 3apaxoBaHO 1-34

3. PEKOMEHJIAIII 1O CAMOCTIMHOI POBOTHU CTYJIEHTIB

3.1.  Mooyrab 3M-IT5 “The Ecosystem”, “Famine and flood ”, The Infinitive;
nepexnao mekcmy 3a (paxom ma nepexiao CycnilbHO-NOAIMUYHO20 MEKCM) 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]

3.1.1. [ToBuanHus

a) Text A. “The Ecosystem”. “Famine and flood”.

. [IpounTaT TEKCT aHINMINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI CJI0OBa Ta 3p0OUTH X MEPEKIIa/I.

. YCHO mepeK1acT TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.
. [lepexazatu TeKCT.

B W N —

b) JdomamiHe ynranus. [lepeknan TekcTy 3a haxom.

. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX TEpEeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIHMCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

N AN W =

c) JlomarrHe ynTaHHs (MEPEKIIa CyCIUTLHO-TIOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEPEKIIal.

N —
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3. YCHO nepekiacTi TEKCT 3 aHTUIICBKOI Ha YKPaiHChKY MOBY.
4. ITucpmoBe Summary.
5. Ycue Summary

d) Grammar:
The Infinitive

1. 3poOuTH KOHCIIEKT MTPpaBUJI BXXKUBAHHS 1HPIHITUBY Ta Ooro GopM y aKTUBHOMY
Ta TACHBHOMY CTaHaX.
2. BukoHaTH TpeHyBaJIbHI IPaMaTHYHI BIPABH.

W

o

8.

9.

3.1.2. IlutanHs U1 caMONepeBIpKU

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of the
molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?

3.2.  Mooyrs 3M-IT6 “Global Warming”, “Kyoto Revisited ”, The Gerund;
nepexkaao mekcmy 3a paxom ma nepexiao CyCcniibHO-NOAMUYHO20 MEKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlireparypa: [1, c. 55 - 64], [2, c. 47-50], [6, c. 94-100]

3.2.1. [ToByauus

a) Text A. “Global Warming”. “Kyoto Revisited”.
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DN D WK = B W N —

DN AN W=

l.

. ITpounTaTy TEKCT aHIIIICHKOK MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEPEKIIaI.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOT Ha YKPaTHCHKY MOBY.
. Ilepekasatu TeKcr.

b) domamne yntanns. [lepeknam TekcTy 3a haxom.

. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOI'O TeKCTY 3a (paxom (8000 ap.3HaKiB
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO mepeKy1acTi TeKCT 3 aHTJIACHKOI Ha YKPAiHCbKY MOBY.

. [TucpmoBe Summary.

. Ycue Summary

c) JlomamrHe ynTaHHs (IEPEeKIIa CyCITbHO-TIOTITHYHOTO TEKCTY)

. CaMOCTIHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpEeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIHCHKOI Ha YKPaiHCbKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

d) Grammar:
The Gerund

3poOUTH KOHCTIEKT MPAaBWII BXKUBAHHS TePYH/II0 Ta HOro (opM y aKkTUBHOMY Ta

IMaCMBHOMY CTaHaX.

2.

oCoNOOR~ODE

BukoHaTn TpeHyBaJbHI IpaMaTU4HI BIPABH.

3.2.2. IlutanHd U1 caMOTepeBipKU

What is one of the biggest threats facing the planet?

What is the cause of temperature’s rising?

What have the researchers gathered over the past 20 years?

What is the global warming?

Do you know the real size of mankind’s contribution to the warming trend?
How should greenhouse-gas emissions be abated?

What is in a new paper for the Copenhagen Consensus project examined?

Avre rising temperatures capable of causing great economic harm-though a lot?
How much would total economic damage fall on farmers?

10 Why could farmers no longer use some lands?
11.What does Mr. Cline investigate?
12.What is the Kyoto treaty?
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13.What would a global carbon tax encourage?

14.Why do many rich countries refuse to sign the Kyoto treaty?

15. Does the last policy recognize that predictions of climate change encompass a
wide range of scenarios? Why?

16. What can you say about the possible damage costs?

17.Do you know three possible remedies?

18.Are given figures huge and very speculative?

3.3. Mooyas 3M-IT7 “Natural Wonders of the World ”, The Participle; nepexnao
mexcmy 3a ¢haxom ma nepexkaao CyCnilbHO-noJIMU4H020 MEeKCMy 3 AH2NIUCLKOL Ha
VKPAiHCbKY MO8BY.

Jlitepatypa: [1, c. 65-79], [2, C. 42-47], [6, c. 84-94]

3.3.1. [loBuanus
a) Text A. “Natural Wonders of the World .

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeK1acT TeKCT 3 aHTJIACHKOI Ha YKPaiHChKY MOBY.
. Ilepexazatu TEKCT.

B W N —

b) Homamne untanns. [lepexnam TekcTy 3a haxom.

. CaMocTiifHO BUOpATH TEKCT 3 aHTJIIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIIHCHKOI Ha YKPAiHCbKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN bW N =

c) JlomarHe yuTaHHs (MEPEKIIa CyCIIbHO-TOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEPEKIIal.

. YCHO mepeK1acT TeKCT 3 aHTJIACHhKOI Ha YKPAiHChKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

DN AN WN =

d) Grammar:
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The Participle

1. 3poOuTH KOHCTIEKT MPaBUJI B)KUBAHHA JTIEMPUKMETHHUKA Ta HOro GopM y
AKTUBHOMY Ta MACUBHOMY CTaHaX.
2. BukoHaTu TpeHyBaJlbHI IpaMaTUYHI BIPABH.

3.3.2. IlutaHHs 119 cCaMOTEePEeBIPKU

=

What does the Victoria Falls offer?

Who reported the existence of the Falls?

When did David Livingstone reported the existence of the Falls to the outside
world?

What is the Hunters Road?

What does the list of commercial activities include?

What can you say about the Grand Canyon?

What can you say about the John Wesley?

What did John Wesley write about the Grand Canyon?

9. What can you say about the Colorado river?

10.What is Gorge?

11.What is Vishnu schist?

12.How many years ago did Grand Canyon form?

13.What other magnificent wonders of the world do you know?

14. When did the region become more politically stable?

15.Why are new activities emerging and why is the industry becoming more and
more sophisticated?

W N

o ~NOoOh

3.4. Mooyaw 3M-II8 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type O, I, Il, I11); nepexrao mexcmy 3a
gaxom ma nepexnao cycniibHO-NOJIMUYHO20 MEKCMY 3 AHSAIUCHKOI HA YKPAIHCHKY
MO8).

Jlireparypa: [1, ¢. 80-91], [2, c. 59-60], [6, c¢. 121-138]
3.4.1. [loBuanus
a) Text A. “Decision-Making on the Solution of Ecological Problems .
1. [IpounTaTy TEKCT aHITINCHKOIO MOBOIO.

2. BumnucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
3. YCHO nepeKiacT TeKCT 3 aHTIHCHKOI Ha YKPaiHChKY MOBY.
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4. Ilepeka3aTu TEKCT.

b) domamne yntanns. [lepexnam TekcTy 3a haxom.

. CamocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. Bunucatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH iX MEPEKIal.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOI Ha YKPaTHCHKY MOBY.

. [lucpmoBe Summary.

. Ycue Summary

N AW =

c) JomaiHe yuTaHHs (IEPEKIa]] CYCIIbHO-TIOJIITHYHOIO TEKCTY)

1. CaMoOCTIHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIaI.
3. YCHO nepeKacT TEKCT 3 aHTIIHCHhKOI Ha YKPaiHCbKY MOBY.
4. [TucpmoBe Summary.
5. ¥Ycue Summary
d) Grammar:
The Conditional sentences (Type O, I, II, 111)

1. 3poOUTH KOHCTIEKT MPaBUJI BXKUBAHHS YMOBHHUX PEUEHbB Ta iX CTPYKTypH
noOyJI0OBU B PEUCHHSX.
2. BukoHaTH TpeHyBaJIbHI IPaMaTHYHI BIPABH.

3.4.2. IlutanHs 1u1si caMOTIepEeBIpKU

=

Is it possible to speak about the target behavior of a system in a certain
environment?

Why must we obtain necessary information?

What do you know about anthropo-ecological system?

What is the difference between the target behavior and adaptation of behavior?
What can we say from the viewpoint of social economic development?

Why must the barriers of natural conditions be learned?

What do you know about the process of cognition of natural and social laws?
What are trajectory variants?

What is one of the serious problems of the decision-making process in the
solution of ecological problems?

10.What have many scientists already agreed?

11.1n what solution does all branches of natural and social sciences intervene?
12.1s this certainly a generally acceptable view?

CoOoNOkwD
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13.With what does its implementation meet?

14.What is the main problem of the specialized terminology?
15.Why do conflicts occur among specialists?

16.What is another problem of such inter-disciplinary cooperation?
17.Why is this discussion totally pointless?

18.What have we to realize?

3.5. Mooyas 3M-IT9 “Strategy of National Ecological Policy of Ukraine Until
20207, Indirect speech; nepexnao mexcmy 3a gpaxom ma nepekiao cycniivbHo-
NOJIMUYHO20 MEKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOB).

Jliteparypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]
3.4.1. [loBuanus
a) Text A. “Strategy of National Ecological Policy of Ukraine Until 2020 .
. [IpounTaTy TEKCT aHIMTIMCHKOIO MOBOIO.
. Bunucatu 3 TeKCTy HOBI cllOBa Ta 3pOOUTH IX MEPEKIa.

. YCHO mepeK1acT TeKCT 3 aHTJIHCHhKOI Ha YKPAiHChKY MOBY.
. [lepekazatu TEKCT.

DN W N =

b) JdomamiHe ynranus. [lepeknan TekcTy 3a haxom.

. CaMocCTilfHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIIHCHKOI Ha YKPAiHCbKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN AN W=

c) JlomamrHe ynTaHHs (MIEPEKIIa CyCIUTbHO-TIOTITHYHOTO TEKCTY)

. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO mepeKy1acT TeKCT 3 aHTJIACHKOT Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

R WN =

d) Grammar:
Indirect speech

1. 3po6uTH KOHCIIEKT MPaBUJ BXKMBAHHS YMOBHHUX PEUYEHb Ta IX CTPYKTYpHU
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1no0yI0BH B PEUCHHSX.
2. BukoHaTu TpeHyBaJIbHI IPaMaTUYHI BIPABU.

3.4.2. Ilutanna 1uisi caMOTIepeBIpKU

What are the main problems of pollutant emissions?

What can we observe in our environmental?

What have the competent authorities been continuously registering up?

What position does Ukraine take according to UNESCO?

Why does the system of state governance in the area of protection of waters

require?

What can you say about drinkable water supply of Ukraine?

7. What are the main factors of sanitary and epidemiological well-being of
population?

8. What does pollution of water with nitrates cause?

9. Why is status of land resources in Ukraine close to critical?

10. Is the largest territory of Ukraine occupied by agricultural lands (71 per cent),
78 per cent?

11. What can you say about forest resources in Ukraine?

12. Why doesn’t the system of management in the area of protection and
restoration of forests fully ensure?

13. What does biosphere of Ukraine count?

14. What can you say about a considerable decrease of landscape diversity in
Ukraine?

15.What is a strategic task in achieving the ecological balance of the territory of

Ukraine?

Ok wh e

o

3.6. Mooyas 3M-IT10 “State ecological monitoring ”, Subjunctive mood.
Revision; nepexnao mexcmy 3a paxom ma nepexiao cycniibHo-noaAMuYHO20
meKcmy 3 aH2IUCLKOI Ha YKPAIHCLKY MOB).

Jliteparypa: [1, c. 101-115], [2, c. 52-55], [6, c¢. 106-120]
3.4.1. [loBuanus
a) Text A. “State ecological monitoring ”.
1. [IpounTaTy TEKCT aHIMTINCHKOIO MOBOIO.
2. BumnucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeKacT TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.
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l.

b) Hdomamne yntanus. [lepeknan TekcTy 3a haxom.

. CamocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HaKiB)
. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpEeKIal.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOI Ha YKPaTHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

c) JomaiHe yuTaHHs (IEPEKIIa]] CYCIIbHO-TOJITHYHOTO TEKCTY)

. CaMOCTIHHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
. Bunncatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpPEKIal.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOT Ha YKPaTHChKY MOBY.

. [TucemoBe Summary.

. Ycre Summary

d) Grammar:
Subjunctive mood. Revision.

3poOUTH KOHCTIEKT MPABWII BXKUBAHHS YMOBHUX PEUYECHbB Ta iX CTPYKTYpHU

noOyJI0OBU B PEUCHHSX.

2.

8.

9.

BukoHnaTu TpeHyBaIbHI IpaMaTU4HI BIPABH.

3.4.2. [lutanHs 175 caMONepeBIpKU

What can you say about the subjects of the state environment monitoring
system?

What does the State Hydrometeorological Service (the Ministry of
Emergencies) monitor?

Why are the chemical composition of atmospheric precipitations and their
acidity under observation?

How many pollutants does the program of compulsory monitoring of air quality
include?

What does State Environmental Inspectorate (the Ministry of Environment)
provide?

How is water quality monitored?

What do water management organizations monitor?

What does Sanitary and Epidemiological Service (the Ministry of Health) carry
out?

What can you say about the responsibilities of monitoring systems?

10. What are the indicators of radioactive contamination?
11. What do the enterprises of the State Forestry Committee monitor and assess?

28



12. What do the monitoring laboratories of the Ministry of Agricultural Policy
carry out?

13. What does the Ministry of Emergencies monitor within the 30-km zone around
the Chernobyl Nuclear Power Plant?

14.What does International Radioecology Laboratory of Chornobyl Centre for
Nuclear Safety monitor?

15. What must local authorities do to prevent further contamination?

4. IMTAHHA 10 3AXOJA1IB IOTOYHOTI'O, IIACYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuy4Hi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI po6oTH Moy 3M-I15.
Module control work Ne 5

[2, c. 38 -42],[3, c. 85— 100]
I. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85 — 100]

2. You'll have to attend preparatory courses to be able (to enter) the university. [2,
c. 38 —42], [3, c. 85—-100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in their
studies? [2, c. 38 —42], [3, c. 85— 100]

5. They must (to argue) about the right occupation to choose. [2, ¢. 38 — 42], [3, c.

85 —100]

(To teach) is a responsible task. [2, c. 38 — 42], [3, c. 85— 100]

My sister is glad (to teach) English. [2, c. 38 —42], [3, c. 85— 100]

I'm sorry (not to help) you. [2, c. 38 —42], [3, c. 85 — 100]

It seems (to rain) since the very morning. [2, c. 38 —42], [3, c. 85 — 100]

0 They are glad (to be taught) by such outstanding teachers. [2, ¢. 38 — 42], [3, c.

85— 100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42], [3,
c. 85-100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at her
thesis. [2, c. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, ¢. 38 —42], [3, c. 85— 100]

"“390.\‘.@
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15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, ¢c. 38 —42], [3, c. 85 —100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85 —
100]

19.They are said (to be) rather good. [2, c. 38 —42], [3, c. 85 — 100]

20. Tomorrow I shall be busy: | expect (to read) for the examination all day long. [2,
c. 38 —42], [3, c. 85 —-100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, c. 38 —42], [3, c. 85— 100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c. 38
—42], [3, c. 85— 100]

24.He (to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85— 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42], [3,
c. 85—100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42], [3,
c. 85—100]

28.She is sure (to come). [2, c. 38 — 42], [3, c. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85— 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 —42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, c. 85 — 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85 — 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, c. 85— 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 —42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, c. 38 — 42],
[3, c. 85 —100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85— 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, ¢. 85— 100]

40.Mike warned his sister not (to come) back late. [2, c. 38 — 42], [3, c. 85 — 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, c. 38 —42], [3, c. 85 — 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, c. 85— 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85 — 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85 — 100]

46.Ken failed (to make) new friends at school. [2, c. 38 —42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 —42], [3, c. 85 — 100]
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49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42], [3,
c. 85-100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 — 42], [3, c. 85— 100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 — 42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85— 100]

55.He is reported (to write) a new novel. [2, c. 38 — 42], [3, c. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85— 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85— 100]

59.1 happened (to ask) her about you when you came in. [2, c. 38 —42], [3, c. 85 —
100]

60.He seems (to ask) wrong people. [2, c. 38 —42], [3, c. 85— 100]

[1, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural and
functional aspects. It consists of the community and physical environment including
interactions between them. It was in the year 1935 by the Tansley.

The can be temporary which includes the rain water pond. It
can be permanent also. They may be natural which includes the rivers. They are also
manmade which includes the aquarium. It can be small which includes the pond or
a drop of water. It can be large which includes the ocean. There is a small ecosystem
own as the micro ecosystem. The distinct community consisting of number of
species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic and
abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These are
related by the food mainly. The food transfers the matter and energy to the outside
world. The autotrophs are also known as the producers. They make the food by the
process of photosynthesis from the . They not only make their food but
also r the other organisms. They absorb the energy from sun and convert into the
chemical energy. They release oxygen. The organic compounds release energy
during . They are also referred as the transducers as they can
one form of energy to the other form. The organic compounds which are formed
play an important role in of bodies and help in the release of energy.
They maintain the ratio of gases which help to maintain the balance of . The
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heterotrophs are not able to make their own food. It includes the zooplankton, larvae,
bugs, higher animals and vertebrates. They are also as the consumers.
They are of different types. Basically, they are of herbivores and carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, ) nature, J) convert.

4.2. I'pamaTryH1 3aBJaHHS 10 MOYJIbHOI KOHTPOJIbHOI poboTu Mo tyis 3M-I16.

Module control work Ne 6
[2, c. 47 —50], [3, c. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. 1 don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50], [3, c.

113 - 123]

(To walk) is very useful. [2, c. 47 —50], [3, c. 113 — 123]

5. You may finish this discussion after my (to leave). [2, c. 47 — 50], [3, c. 113 —
123]

6. After (to finish) their homework the children went out to play. [2, c. 47 — 50], [3,
c. 113 - 123]

7. The telephone is (to ring). [2, c. 47 — 50], [3, c. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c. 47
—50], [3, ¢. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 —123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, ¢c. 47 — 50], [3, c.
113 - 123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 —50], [3, c. 113
—123]

12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 — 50],
[3,c. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 —
123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, c. 113 —123]

16.1've no objections (to be asked) about it. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 —50], [3, ¢. 113 — 123]
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18.1 do not like (to attract). [2, c. 47 — 50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c. 47
—50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her father
at home. [2, c. 47 —50], [3, c. 113 — 123]

21.1t is historically true. | loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 —50], [3, ¢. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 — 50], [3, c. 113 — 123]

25.1 like (to invite) friends to my house. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 -
123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, ¢. 47 —50], [3, c. 113 —123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47 —
50], [3, ¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2, c.
47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 - 123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, ¢. 113 — 123]

34.She enjoyed (to give) parties. [2, c. 47 — 50], [3, c. 113 — 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from me.
[2, c. 47 —50], [3, c. 113 —123]

36.Nobody can go on (to live) without some belief. [2, c. 47 —50], [3, ¢. 113 — 123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 —50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 — 50], [3, c. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father at
home. [2, c. 47 —50], [3, c. 113 — 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, c. 47 —50], [3, c. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 —50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, ¢. 113 — 123]

44.He turned at (to hear) her footsteps. [2, c. 47 — 50], [3, c. 113 - 123]

45.He has no right to come bothering you and your father without (to be invited). [2,
c. 47 -50], [3, c. 113 -123]

46.Tom went on (to whitewash). [2, ¢. 47 — 50], [3, ¢. 113 — 123]

47.He did not remember (to see) in that room. [2, c. 47 — 50], [3, c. 113 — 123]

48.The child deserves (to praise). [2, c. 47 — 50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 — 50], [3, ¢. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 — 50], [3, ¢. 113 — 123]
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52.1 do not remember (to hear) the legend before. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3, c.
113 - 123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 —50], [3, c.
113 - 123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, c. 113 —123]

56.1 am fond of (to be given) presents. [2, c. 47 — 50], [3, c. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 — 50], [3, ¢. 113 — 123]

58.1 am sorry for (to be given) such a small scholarship. [2, ¢. 47 —50], [3, c. 113 -
123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 — 123]

60.She (to be surprised) at my coming. [2, c. 47 —50], [3, ¢. 113 — 123]

[1, c. 55-56]
1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered evidence
that the burning of fossil fuels is causing temperatures to rise. However, the exact
pace of global warming, as well as the size of mankind’s to the warming
trend, remain uncertain. Aside from these issues is the question of precisely how
greenhouse-gas emissions should be abated, assuming that they need to be reduced
at all. In a new paper for the Copenhagen Consensus project, William Cline of the
Centre for Global Development and the Institute for International Economics

these topics.

Rising temperatures are capable of causing great economic harm-though a lot
depends not just on how big future rises prove to be but also on how quickly they
happen. One estimate is that a doubling of atmospheric of carbon
dioxide would cost between 1% and 2.5% of global GDP, depending on what kinds
of damage you include.

One study from America’s Environmental Protection Agency the
possible costs. Around a quarter of the total economic damage would fall on farmers,
who could no longer use some lands. Around a sixth of the total cost would come in
the form of increased cooling costs for homes and offices (net of the reduced costs
of heating). Rising sea levels, damage to drinking-water and heatwaves
would each account for 10%. Deforestation and rising ozone pollution together
would another 10%. And the economic estimates exclude the “amenity
value” — the price people would be willing to pay to avoid rising for
reasons of convenience.

Yet totting up such is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy : many of the benefits will not be realized for decades or centuries,
while the costs of abatement will be felt today.
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A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G) add,
H) temperatures, I) contribution, J) concentrations.

4.3. I'pamaTtuyHi 3aBJaHHS 10 MOIYJIbHOI KOHTPOJIBHOI podoTu Moayst 3M-I17.

Module control work Ne7

[2, c. 42 — 47], [3, c. 100 — 113]

I. Grammar Test (The Participle)

Put the right form of the Participle:

1.
2.

B

9.

Is this seat (to take)? [2, c. 42 — 47], [3, c. 100 — 113]
The man (to stand) at the door helped the old woman to get off the bus. [2, c. 42 —
47], [3, c. 100 — 113]

(To see) that he was late he took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]
What is this instrument (to use) for? [2, c. 42 — 47], [3, ¢. 100 — 113]
Watches and cameras (to make) in Japan are very popular all over the world. [2,
.42 —47],[3,c. 100 — 113]

(To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

(To receive) a letter, I usually answer it at once. [2, c. 42 — 47], [3, ¢. 100 — 113]
While (to prepare) for an examination, he always studies in the reading-hall. [2,
.42 —47],[3, c. 100 — 113]

While (correct) the students' test-papers, the teacher underlined the mistakes with
a red pencil. [2, c. 42 — 47], [3, ¢. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the students.

[2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2, c. 42 —

47], [3, c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be

returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 — 47], [3, c. 100 —

113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, ¢. 100 — 113]
15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —

113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]
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17.(To prescribe) the medicine, the doctor went away. [2, c. 42 — 47], [3, c. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 — 47],
[3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 — 113]

21.The day (to be) finer and a little warmer than the previous one, he went out again.
[2, c. 42 —47], [3, c. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42 — 47], [3, ¢. 100 —
113]

23.(To finish) the book, | had a holiday. [2, c. 42 — 47], [3, c. 100 — 113]

24.While (to understand) your problem, | don’t know how | can help. [2, c. 42 — 47],
[3,c. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin diseases.
[2, c. 42 —47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to cancel
the order. [2, c. 42 — 47], [3, ¢. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 — 113]

28.(To open) her eyes, the baby began to cry. [2, c. 42 — 47], [3, ¢. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms. [2,
c. 42 —47],[3, c. 100 — 113]

31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47], [3,
c. 100 —113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 — 47],
[3, c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, ¢c. 42 — 47], [3, c. 100 —
113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, c. 100 —
113]

37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 —113]

38.(To graduate) from the university, | decided to return to my home city. [2, c. 42 —
47], [3, ¢. 100 — 113]

39.When (to speak) English, pay more attention to the word order. [2, c. 42 — 47],
[3, c. 100 — 113]

40.(To run) across the field, | fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 — 113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, ¢. 100 — 113]
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42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
.42 —47],[3, c. 100 — 113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, c. 100 — 113]

44 \We admired the stars (to twinkle) in the sky. [2, c. 42 — 47], [3, c. 100 — 113]

45.(To reach) the classroom, she became the object of many questions. [2, c. 42 —
47], [3, c. 100 — 113]

46.This was (to say) as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, c. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
.42 —47],[3, c. 100 — 113]

51.She has found me (to unalter). [2, c. 42 — 47], [3, c. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 — 47],
[3, c. 100 — 113]

53.Generally (to speak), | don't like boys. [2, c. 42 — 47], [3, c. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 — 47], [3, c. 100 — 113]

56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, c. 42 — 47], [3, c. 100 — 113]

58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3, c. 100 —
113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, c. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

[1, c. 66-67]
1. Fill the gaps:
The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-a
290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles; its
average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of gorges

of years old. Agent of this scene, the Colorado River drops 2,200 feet
over nearly 200 rapids as it roars through the Canyon the Gulf of California.

Numbers, though, tell only of the canyon's story and merely hint at
the magic of its myriad hues, strata, spires and gorges. The place is more than the
sum of its parts-so much more that neither the eye nor the mind of the beholder can
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more than a small part of it at one time. As John Wesley Powell, whose
party in 1869 became the first to traverse the canyon by river, wrote, “You cannot
see the Grand Canyon in one view, as if it were a changeless from which
a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices through
Granite. Gorge, some of the oldest rocks visible anywhere on the earth.
Nearly two billion years old, the Vishnu schist is the gleaming black of
a once towering mountain range. Some 500 million years after it formed, vast rifting
and faulting laid it down the tilted, sediments of the Grand Canyon Series
atop schist. Ten distinct layers of sandstone, limestone, and shale bespeak the
advance and retreat of seas, the building up and wearing down of
mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, I) northern, J) part.

4.4. I'pamaTrdHi 3aBIaHHS 10 MOAYJIHHOI KOHTPOJIBHOI poboTH Moy 3M-I18.

Module control work Ne8

[2, c. 59 - 60], [3, ¢.58 —60]

I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:

1. If I (to be free) tomorrow, | shall join you with pleasure. [2, c. 59 — 60], [3, ¢.58
—60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, ¢. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c. 59 —
60], [3, ¢.58 —60]

4. If it (to be raining) now, the children would not be running about in the garden.
[2, c. 59 — 60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, c. 59 — 60], [3,

.58 —60]

| would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

If you | had met her 1 (to tell) her about it. [2, ¢. 59 — 60], [3, ¢.58 —60]

8. If I leave town | never (to tell) my people where | am going. [2, ¢. 59 — 60], [3,
.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c. 59 —
60], [3, ¢.58 —60]

~N o

38



10.1f they (to find) the exact meanings of these words, they will understand the text
easily. [2, ¢. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination early
in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 — 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon precipitation
for their store water. [2, ¢. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3, ¢.58 —
60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, ¢c. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his leg.
[2, c. 59 —60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 — 60],
[3, c.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c. 59
—60], [3, ¢.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left. [2,
c. 59 - 60], [3, c.58 —60]

23.1f these shoes were not too big for me, I (to buy) them. [2, c. 59 — 60], [3, ¢.58 —
60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, ¢c. 59 — 60], [3, ¢.58 —
60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c. 59
—60], [3, ¢.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, c. 59 —
60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, ¢. 59 — 60],
[3, ¢.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2, c. 59
—60], [3, .58 —60]

30.My father would have more free time if he (not to read) so many newspapers.
[2, c. 59 —60], [3, ¢.58 —60]

31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,
.58 —60]

32.1f | were a famous singer, | (to get) a lot of flowers every day. [2, c. 59 — 60],
[3, ¢.58 —60]
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33.If my brother (to be) in trouble, I shall help him, of course. [2, ¢. 59 — 60], [3,
.58 —60]

34.1f | don't manage to finish my report today, | (to stay) at home tomorrow. [2, c.
59 —60], [3, ¢.58 —60]

35.1f she is more careful about her diet, she (not to be) so stout. [2, ¢. 59 — 60], [3,
.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, ¢. 59 — 60], [3,
.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, ¢. 59 — 60], [3,
.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text. [2,
c. 59 - 60], [3, ¢.58 —60]

39.1f I (to be) a musician, | should be very happy. [2, ¢. 59 — 60], [3, ¢.58 —60]

40.1f Barbara (to get) up at half past eight, B would have been late for school. [2, C.
59 —60], [3, ¢.58 —60]

41.1f you had not put the cup on the edge of the table, it (not to break). [2, c. 59 —
60], [3, ¢.58 —60]

42.1 should be very glad if he (to come) my place. [2, c. 59 — 60], [3, ¢.58 —60]

43.1f he (to live) in Odessa, he would go to the sea every week. [2, c. 59 — 60], [3,
.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢c. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, c. 59 —
60], [3, ¢.58 —60]

46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2, c. 59 —
60], [3, ¢.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, c. 59 — 60], [3, ¢.58 —60]

49.1f he had warned me, | (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f | (to have) this rare book, I should gladly lend it to you. [2, ¢c. 59 — 60], [3,
.58 —60]

51.The dish would have been much more tasty if she (to be) a better cook. [2, c. 59
—60], [3, ¢.58 —60]

52.He never (to phone) you if I hadn't reminded him to do that. [2, c. 59 — 60], [3,
.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2, c.
59 —60], [3, ¢.58 —60]

54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3, ¢.58 —
60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2, ¢. 59 —
60], [3, ¢.58 —60]

56.If you (to put) the ice cream into the refrigerator, it would not have melted. [2,
c. 59 -60], [3, ¢.58 —60]
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57.1f I (to know) the result now, | would phone her immediately. [2, ¢. 59 — 60], [3,
.58 —60]

58.1f you had let me know yesterday, | (to bring) you my book. [2, c. 59 — 60], [3,
.58 —60]

59.1f it (to snow), the children will play snowballs. [2, c. 59 — 60], [3, ¢.58 —60]

60.1f | (not to know) English, | should not be able to enjoy Byron's poetry. [2, c. 59
—60], [3, ¢.58 —60]

[1, c. 81]
1. Fill the gaps:

Here we come to the important task for in social practice and, at the
same time, to the methodological problems arising in the preparation of such an
inter-disciplinary document. It is not only matter of a 'different language’ of different
scientific methods in individual disciplines, but it sometimes the debate
on the fundamental issues of the scientific work. When has an exact scientist the
right or the duty to come out of the shell of his narrow and countless verified
laboratory to take up an attitude to an issue which is only vaguely
related to his subject, and therefore only lends itself to a analogy? And
yet who has the right to derive such an analogy, if not the specialist of the respective
field?

Consequently, conflicts among specialists of the natural and social
sciences, where each is trying to impose the priorities of his viewpoint as the 'nation-
wide' interest. Another problem of such an interdisciplinary is the
discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on the
other hand, there are also natural scientists with a broad ecological orientation and
an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists laugh
at the narrow specialists for 'knowing everything about nothing. The goes
as far as the issue of 'science an non-science, where only exact experimental work

as scientific, while its processing as a basis for decision-making is
considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, |) cooperation, J) remote.
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4.5. 'pamaTuyHi 3aBJaHHS 10 MOAYJIbHOI KOHTPOJIBHOI poOoTH Moyist 3M-T19.

Module control work Ne9

[2, c. 61— 62], [3, c. 44 - 47]

I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

1. 1 knew they (to wait) for me at the metro station and | decided to hurry. [2, c. 61 —
62], [3, c. 44 — 47]

2. | didn't know that you already (to wind) up the clock. [2, c. 61 - 62], [3, c. 44 —
47]

3. | 'was afraid that the little girl (not to be) able to unlock the front door and (to go)

upstairs to help her. [2, c. 61 —62], [3, c. 44 — 47]

He says that he (to know) the laws of the country. [2, c. 61 — 62], [3, c. 44 — 47]

Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 — 62],

[3, C. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2, c. 61 —
62], [3, c. 44 — 47]

7. He understood that the soldiers (to arrest) him. [2, ¢c. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —62], [3, c. 44 — 47]

9. | suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62], [3,
c. 44 — 47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, c. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61 — 62], [3, c. 44 — 47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2, c. 61 —
62], [3, c. 44 — 47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61 —62], [3, c. 44 —
47]

15.The policeman asked George where he (to run) so early. [2, c. 61 —62], [3, c. 44 —
47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, c. 61 — 62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 — 62],
[3, C. 44 — 47]

18.He said he (to come) to the station to see me off. [2, c. 61 — 62], [3, c. 44 — 47]

19.1 was sure he (to post) the letter. [2, c. 61 — 62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]

21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]

22.1 want to know what he (to buy) for her birthday. [2, c. 61 — 62], [3, c. 44 — 47]
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23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62], [3,
C. 44 — 47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 —62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61 —62], [3, c. 44 —
47]

26.He asked me where | (to study). [2, c. 61 — 62], [3, c. 44 — 47]

27.1 thought that I (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 — 62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 — 62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, c. 61 — 62], [3, c. 44 — 47]

31.He told me he (to be) ill. [2, c. 61 — 62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 — 62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62], [3,
C. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 — 62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]

36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, ¢c. 61 —62], [3, C. 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62], [3,
c. 44 — 47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]

39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 — 62],
[3, c. 44 — 47]

40.He said he just (to be examined) by a good doctor. [2, c. 61 — 62], [3, c. 44 — 47]

41.He said (not to come) to school until Monday. [2, c. 61 — 62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, c. 61 — 62], [3, C. 44 —
47]

43.He said that his health greatly (to improve) since then. [2, ¢. 61 — 62], [3, c. 44 —
47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62], [3,
c. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 — 62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61 - 62], [3, c. 44 —
47]

47.The man asked the boy if he (to know) where he lived. [2, c. 61 —62], [3, c. 44 —
47]

48.The woman told him (not to worry) and go home quietly. [2, c. 61— 62], [3,
Cc. 44 — 47]

49.She said that she (to sleep) in the open air. [2, c. 61 — 62], [3, . 44 — 47]

50.She asked me why | (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if I (to see) him before. [2, c. 61 — 62], [3, c. 44 — 47]

52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]
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53.She promised me that she (to finish) writing the report by the time you get here.
[2, c. 61 —62], [3, c. 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62], [3,
C. 44 — 47]

55.He told me that I (to work) too hard and I (to take) more time off. [2, c. 61 — 62],
[3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
. 61—62], [3, c. 44 — 47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 —62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]

[1, c. 92-93]

1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
decreases due to pollution and . Practically all surface water sources and
ground waters are polluted. Main substances, which cause pollution, — compounds
of nitrogen and phosphorus, , Which are exposed to light oxidation,
pesticides, oil products, heavy metals, phenols. Intensive euthrofication of inland
water bodies cause worsening of status of Black and Azov seas.

By level of efficient of water resources and quality of water Ukraine,
according to UNESCO, takes 95-th position among 122 countries.

The system of state governance in the area of protection of waters
immediate reforming towards transfer to integrated management of water resources.
Functions of management in the are of protection, usage and restoration of waters
are allocated between different central executive authorities that result in their
overlapping, different of provisions of environment protection
legislation and inefficient usage of budget funds.

Drinkable water supply of Ukraine almost by 80 per cent by usage
of surface waters. Ecological status of surface water bodies and quality of water in
such bodies are the main factors of sanitary and epidemiological of
population. At the same time most of water bodies by level of pollution are attributed
to those, which are polluted and much polluted.

Underground waters of Ukraine in many regions by their quality do not meet the
regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
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concern as the centralized water supply only 25 per cent of rural settlements
of Ukraine.

A) usage, B) well-being, C) interpretation, D) organic substances, E) requirements,
F) covers, G) is ensured, H) suitable, I) requires, J) depletion.

4.6. 'pamaTuy4Hi 3aBIaHHS 10 MOJTYJIbHOI KOHTPOJIbHOI podoT Moyiisa 3M-I110.

Module control work Nel0

[2, ¢. 51 —55], [3, ¢. 56 — 65]

I. Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 — 55],
[3, c. 61 —62].

2. |'wish I (to have) a season ticket to the Philharmonic next winter. [2, c. 52 — 55],
[3, c. 61 —62].

3. l'wish I (to consult) the teacher when | first felt that mathematics was too difficult
for me. [2, c. 52 —55], [3, c. 61 — 62].

4. |love sunny weather. | wish it (to be) warm and fine all the year round. [2, ¢. 52 —
55], [3, ¢. 61 — 62].

5. I'wish I (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3, ¢. 61 —
62].

6. | wish you (to send) word as soon as you arrive. [2, c. 52 — 55], [3, c. 61 — 62].

7. 'wish I (not to have) to do my homework every day. [2, ¢. 52 — 55], [3, ¢c. 61 —
62].

8. | wish you (to go) skiing with me yesterday: | had such a good time! [2, c. 52 —
55], [3, c. 61 — 62].

9. I'wish I (to know) Spanish. [2, c. 52 —55], [3, c. 61 — 62].

10.1 wish | (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, c. 52 — 55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, ¢. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, c. 52 — 55], [3, c. 61 — 62].

13.1' wish | (to be) at yesterday's party: it must have been very merry. [2, c. 52 — 55],
[3, c. 61 —62].

14.1 wish we (to meet) again next summer. [2, c. 52 — 55], [3, c. 61 — 62].

15.Don't you wish you (to see) that performance before? [2, c. 52 — 55], [3, c. 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 —55], [3, c. 61 —
62].
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17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, c. 52 — 55], [3, c. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, c. 52 — 55], [3, c. 61 — 62].

20.1 wish I (not to forget) my friend's birthday yesterday. [2, ¢c. 52 — 55], [3, c. 61 —
62].

21.The boy is sad. He wishes he (not to break) the window. [2, ¢. 52 —55], [3, c. 61 —
62].

22.My aunt wishes she (to stay) at home last weekend. [2, c. 52 — 55], [3, . 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, c. 61 — 62].

24.1 wish it (to be) sunny. [2, ¢. 52 — 55], [3, c. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

26.She wishes she (to live) in Kyiv. [2, ¢c. 52 — 55], [3, c. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, c. 52 — 55], [3, c. 61 — 62].

28.1 wish I (to bring) my camera last spring. [2, c. 52 — 55], [3, c. 61 — 62].

29.1 wish | (can) tell the future. [2, c. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, ¢. 52 — 55], [3,
c. 61 -62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 — 55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 — 55], [3, ¢. 61 — 62].

34.1t looks like raining, 1 wish we (to take) our umbrellas. [2, c. 52 — 55], [3, c. 61 —
62].

35.The child is crying, | wish | (to know) how to calm her. [2, ¢. 52 —55], [3, c. 61 —
62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2, ¢. 52 —
55], [3, c. 61 — 62].

37.1 wish I (to know) it was your favourite writer. | would have bought the book for
you. [2, ¢. 52 - 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, ¢. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 —62].

40.1 wish you (to read) more English books in future. [2, ¢. 52 — 55], [3, c. 61 — 62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, c. 61 — 62].

42.They need a singer for the choir. I wish I (can) sing. [2, ¢. 52 — 55], [3, c. 61 —
62].

43. | wish I (to look after) my parrot better. [2, ¢. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. I wish | (can). [2, c. 52 —55], [3, c. 61 —
62].

45.1 wish | (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 — 62].
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46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 —55], [3, c. 61 —
62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, ¢c. 52 — 55], [3,
c. 61—62].

49.1 wish | (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, ¢. 52 — 55], [3, c. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, c. 52 — 55], [3, ¢. 61 —
62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 -55], [3, c. 61 - 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, c. 52 —55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, ¢. 52 — 55], [3, c. 61 — 62].

57.1 wish 1 (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 -62].

58.1 wish I (to be) only joking. [2, ¢. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

1, c. 102]

1. Fill the gaps:

Monitoring Land Water

The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out
hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic substances,
the main pollutants, heavy metals and pesticides. 8 water bodies are observed for
chronic toxicity of water. The indicators of contamination of surface
waters are also determined.

The State Environmental Inspectorate (the Ministry of Environment)

a selective sampling and obtains data on more than 65 parameters that

are measured.
The State Committee for Water Management monitors rivers, reservoirs, canals,
and pieces of water within multi-purpose water resources utilization
systems, water supply systems, trans-border watercourses and reservoirs in zones
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around nuclear power plants. Water quality is monitored using physical and
chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation systems, 1 firth and
5 multi-purpose channels. In addition, as a part of radioactive monitoring, water
management organizations monitor of radio nuclides in surface waters.

The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water supply
and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking

A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, ) particles, J) radioactive.

4.7. 3aB1aHHS 10 iCIIUTY.

1 3aBmaHHA
Grammar Test

Insert the proper form of the verb:
. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]
. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
. I don’t (to understand) this text. [2, c. 38-42], [3, c. 85-100]
. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-100]
. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]
. If you lent me your bag, I (to go) shopping. [2, c. 38-42], [3, c. 85-100]
. You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]
10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, ¢.42-47], [ 3, c. 100-113]
12. There (to be) little time left, we took a taxi. [2, ¢.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [ 3, c. 100-
113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-113]
15. (To think) that he was busy, I decided to call on him later. [2, c.42-47], [ 3, c.
48
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100-113]

16. (To graduate) from the university, | decided to return to my home city. [2, c.42-
47], [ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, c.42-47], [
3, ¢.100-113]

18. (To run) across the field, I fell and hurt my ankle. [2, c.42-47], [ 3, c. 100-113]
19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, ¢. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c¢. 100-113]

21. He has no right to come bothering you and your father without (to invite). [2,
c.42-47], [ 3, c¢. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50], [3,
c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, ¢. 59-60], [3, c. 55-60]
32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If I (to know) you are coming I won’t leave the house. [2, ¢. 59-60], [3, c. 55-
60]

34.If | (to have) a big house, | (to invite) friends. [2, c. 59-60], [3, c. 55-60]
35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in here.
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[2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he (to run) into the van. [2, ¢. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, c. 59-60], [3, c. 55-60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]

44. This book (to look for) everywhere. [2, ¢.32-33], [3, . 47-55]

45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]

46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]

48. They often (to laugh) at. [2, ¢.32-33], [3, . 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-55]

2 3aBIaHHA

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three political
functions: information, discussion and representation. It is supposed to give the voter
reliable and complete information on which to base his judgement, it should let him
know the arguments for and against any policy, and it should reflect and give voice
to the desires of the people as a whole. Naturally, there is no censorship in Great
Britain, but in 1953 the Press Council was set up. It is not an official body but it is
composed of people nominated by journalists, and it receives complaints against
particular newspapers. It may make reports which criticize papers, but its reports
have no direct effect

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.
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3 3aBHaHHA
I11. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as

follows.

“The Times” (1785) is called the paper of the Establishment. Politically it is
independent, but is generally inclined to be sympathetic to the Conservative party.
It’s not a governmental organ, though very often its leading articles may be written
after private consultation with people in the government. It has a reputation for
extreme caution, though it has always been a symbol of solidity in Britain. Its
reporting is noted for reliability and completeness and especially in foreign affairs.
Its reputation for reflecting or even anticipating government policy gives it an almost

official tone.

“The Guardian” (until 1959 — “Manchester Guardian) has become a truly
national paper rather than one specially connected with Manchester. In quality, style
and reporting it is nearly equal with “The Times”. In politics it is described as
“radical”. It was favourable to the Liberal party and tends to be rather closer in
sympathy to the Labour party than to the Conservatives. It has made great progress
during the past years, particularly among intelligent people who find “The Times”

too uncritical of the Establishment.

“The Daily Telegraph” (1855) is the quality paper with the largest circulation
(1.2 million compared with “The Times’s” 442 thousand and “The Guardian’s” 500
thousand). In theory it is independent, but in practice it is an orthodox Conservative
paper and as such caters for the educated and semi-educated business and
professional classes. Being well produced and edited it is full of various information

and belongs to the same class of journalism as “The Times” and “The Guardian”.
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